Physics 1

equations

R2=X2+Y? 0 = tan™' (%)
v= % a= Z—f p=miu
for constant a:
v =y + at T = xo + vot + 3at’
v? =2 + 2a(x — x) o= 3(vo + )
Zﬁ:md’:i—’f Fyp = —F,
Fjy = pFy ot i Fy =g
F, = Gmup F, = —k&
szﬁmlf K.E.:%mv2
potential energies:
Uy(h) = mgh Us(x) = %ka Uq(r) = —Gmm
U(r) =~ [ F(r)-dr P=4—F.i J=ap= [ Fat
Rotational Dynamics:
ﬁ:% o_z':% L=RXxp=Rmvsinf = lw
v = Rw a = Ra
for constant a:
w=uwy+at 0 = 0o + wot + 50t?

2 _ 2 _ -1
w? = wj + 2a(x — xp) w0 = 5(wo +w)
7=RxF=RFsinf Sr=la=4 K = 1Iw?
Constants:
g =9.81m/s? G=6.7 x 107" Nm? /kg?

My = 5.98 x 10% kg R = 6,398 km



